Validate Print Help	Percentage BoQ
Tender Inviting Authority: SO(Civil)(BnK) Area	

Name of Work: AMC of Day to day up-keeping work of GM Office, Officer Club, Mahila mandal, Area Laboratory and Rest House Outside & Roof area including sweeping, brooming, cleaning of toilets, drain and septic tank, roof etc. with supplying materials

	3,,,,,,,, .				
	g, (Category of Bidder(To Be Selected by Bidder)	To Be Entered by Department		
ITC Not Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)
Name of the Bidder/ Bidding Firm / Company :		Select	18.00	0.00	0.00

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1	Daily up-keeping, mopping and washing floor neatly with lizol, phynyl, bleaching power complete with tools tackels of GM Office, Officer Club, Mahilla Mandall, Area laboratory premises in - side and out-side etc. (hygienc materials paid seperately) as per instruction E.I.C.	4041335.76	sqm	0.61	2465214.81	INR Twenty Four Lakh Sixty Five Thousand Two Hundred & Fourteen and Paise Eighty One Only
2	Daily cleaning Brooming and up-keeping of GM Office, Officer Club, and Mahilla mandal premisses both sides and out side by other places as required with all tools & tackels with satcaking specified places at garbage as perinstruction E.I.C.	3402254.24	sqm	0.2		INR Six Lakh Eighty Thousand Four Hundred & Fifty and Paise Eighty Five Only
3	Cleaning of all type of roof including of dry leves weeding and cleaning root drain holes, Brooming etc. all complete with tools & tackels and stacking specified places as per instruction E.I.C. one time cleaning of roof aweek for 2 (two) years)	356036.72	sqm	0.3	106811.02	INR One Lakh Six Thousand Eight Hundred & Eleven and Paise Two Only
4	Daily cleaning of general toilet and Officer Chamber toilets including dado wall tiles, sakriting, pan (Indian western type) wash basin, urinal, mirror, flushing cisters, table, bench, door, window, glass, towel ring, shop holder etc. at GM office, Officer Club, mahilla Mandal, and Area laboratory (cleaning materials paid seperatly) as per instruction of E.I.C. Two time cleaning of a day of .(Cleaning materials paid seperatly)	30800.00	each	24.25		INR Seven Lakh Forty Six Thousand Nine Hundred Only
5	Cleaning of surface drain including disposal of much sluges through trolly or other arrangement in a specific place (in no case it should be kept on drain bank) within a lead of 1 Km complete with all foals and tack as per instruction of E.I.C. Two time cleaning a week for 02 years drain size 150 to 600 mm inner dia. (cleaning materials paid seperatly) as per instruction of E.I.C.	107993.60	meter	3.03		INR Three Lakh Twenty Seven Thousand Two Hundred & Twenty and Paise Sixty One Only
6	Supplying labours, tools and tackles for cleaning filed and coacked man hole, septic tank, inspection chamber, gullay pits, sewerage tank etc in all lift and disposal of spoils upto a lead of 50M all complete as per specification.	284.71	cum	1211.67	344974.57	INR Three Lakh Forty Four Thousand Nine Hundred & Seventy Four and Paise Fifty Seven Only
7	Cleaning grass and removal of the rubbish upto a distance of 50 m outside the periphery of the area cleared (Total quantity 8305.68 sqm/100 sqm = 83.06 sqm)	83.06	sqm	519.1		INR Forty Three Thousand One Hundred & Sixteen and Paise Forty Five Only

8	Carriage of garbage dry leaves west material or sludge including loading, unloading and stacking with (i) one km lead. (Deduction for 20% void ratio) as per instruction E.I.C.	150.00	cum	121.97	18295.50 INR Eighteen Thousand Two Hundred & Ninety Five and Paise Fifty Only
9	Supply of materials- Coconut brooms (Narial Jharu)	480.00	each	70	33600.00 INR Thirty Three Thousand Six Hundred Only
10	Phool Jharu with natural shillong long grass 21 inch handle stick	624.00	each	95	59280.00 INR Fifty Nine Thousand Two Hundred & Eighty Only
11	Phinail 500 ml	528.00	each	95	50160.00 INR Fifty Thousand One Hundred & Sixty Only
12	Harpic 500 ml. toilet cleaning	336.00	each	105	35280.00 INR Thirty Five Thousand Two Hundred & Eighty Onl
13	Plastic bucket 10" inch	50.00	each	150	7500.00 INR Seven Thousand Five Hundred Only
14	Lizol 500 ml for floor cleaning	696.00	each	110	76560.00 INR Seventy Six Thousand Five Hundred & Sixty Or
15	Floor cleaning MOP microfiber sizenote less than 1.50 X .42 X 15 mt.	504.00	each	300	151200.00 INR One Lakh Fifty One Thousand Two Hundred Only
16	Dellot hand wash 200 ml	300.00	each	110	33000.00 INR Thirty Three Thousand Only
17	Wiper 300mm wide	144.00	each	450	64800.00 INR Sixty Four Thousand Eight Hundred Only
18	Odonil air freshner 48 mg	600.00	each	75	45000.00 INR Forty Five Thousand Only
19	Plastic bucket 25 ltr heavu duty	24.00	each	300.00	7200.00 INR Seven Thousand Two Hundred Only
20	Providing grass green door mat size not less than (16" X 24" inch)	140.00	each	450	63000.00 INR Sixty Three Thousand Only
21	Bleaching Powder	52.00	kg	80.00	4160.00 INR Four Thousand One Hundred & Sixty Only
22	Providing dustbin size 10" inch	50.00	each	249.00	12450.00 INR Twelve Thousand Four Hundred & Fifty Only
23	Spider net cleaner size 1.80 ml	40.00	each	239.00	9560.00 INR Nine Thousand Five Hundred & Sixty Only
24	surf 1 kg	38.00	kg	70	2660.00 INR Two Thousand Six Hundred & Sixty Only
25	Hand towel size (600mm X 300mm) colour white approved brand. As per E.I.C	100.00	each	300.00	30000.00 INR Thirty Thousand Only
26	Naphthalene fragrance ball with pure quality size not less than 1000 gm	20.00	kg	450	9000.00 INR Nine Thousand Only
27	Godrej air wick spray 240 ml	264.00	each	288	76032.00 INR Seventy Six Thousand &Thirty Two Only
28	Cotton cleaning cloth for used table, almari door window etc. cloth size- 22X22 inch	408.00	each	66	26928.00 INR Twenty Six Thousand Nine Hundred & Twenty Eight Only
29	Kudhai with handle weight not less than 2.0 kg	8.00	each	590	4720.00 INR Four Thousand Seven Hundred & Twenty Only
30	Double wheel trolley load capacity 80-100 kg	2.00	each	4500	9000.00 INR Nine Thousand Only
31	Nilkamal PVC dutbin 100 ltr capacity	10.00	each	2000	20000.00 INR Twenty Thousand Only
32	Khurpi size 12" X 2" inch	5.00	each	120	600.00 INR Six Hundred Only
33	Eco friendly garbage bags for dustin 45 pcs per packet size not less than 24" X 32" inch	162.00	each	58.33	9449.46 INR Nine Thousand Four Hundred & Forty Nine an Paise Forty Six Only
34	Urinal scree mat with fragrence for male urinal pot size not less than 18 X 18 X 3.5 cm	50.00	each	95	4750.00 INR Four Thousand Seven Hundred & Fifty Only
35	Plastic mug 1 ltr. Approved brand	50.00	each	50	2500.00 INR Two Thousand Five Hundred Only

36	Trimming of tree branches coming out of main trunk having girth 30 cm to 60 cm measured at knot of a man trunk. The average height of tree is 3.00 mtr and above.	200	each	512	102400.00	INR One Lakh Two Thousand Four Hundred Only
37	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only
Total in Figures					5683773.26	INR Fifty Six Lakh Eighty Three Thousand Seven Hundred & Seventy Three and Paise Twenty Six Only
Quoted Rate in Figures			Select		0.00	INR Zero Only
Quoted Rate in W	ords	INR Zero Only				

, paid seperately for a period of 02 years under GM Unit BnK Area